Factoring the Difference of Two Squares

Factor, write prime if prime.

10.

1.

X2=1

X2 -9

X*+4

x2-25

92— 16

4x2 - 25

2= 1

02_x2

25-m?

x2 - 16y?

25m? - n?

13.
14.
15.
16
17.
18.

19.

21

22.

. X2+ 16

36m?2-121

2x2-8

25 + 4x?

402 - 81b?

12x2-75

a’b - b?

..98 + 2x2

5x2 - 45y2

oxt—4

16x* - y?



Foctor, write prime if prime.

1L ox2-1
(X-H)(X—O
2. x2-9
(x+3)(¥-3)
3. x2+4
prime
4.-x2-25

(x+5Y1-S)

5. 9y*-16
CBye)(3y-1)
6. £x2-95
(22 +5Y 2% =5)
7. 21 .
(3x+D(3%-1)
8. a2-x2
(a+¥¥(a-¥)
9. 25-m?
(S4+m)(S~m)
10. X2 - 16y2
(x+Hy)X-4y)
11. 25m2-nm?

(Sm s nxsm "h)

Answers

12. -x2+16
(4+OXH-%)
13. 36m2- 121

(Lem +1)(Lem-11)
14. 2x2-8

1 (x+2X%-2)

15, 25 +4x2

‘Pri me
16. 4a2 - 81?

(1a +qp)(2a- %)

17. 12x2-75
3(2x+5)(Lx-9)
18. a®-b? '
b (a+bXa-b)
19. 98+ 2x?
2 (x+ =T
20. 5x2-45y?

5(X+3\{)(x.3v)

21. 9x¢-4
(% xt + 2.)(‘5 xz_z)
22, 16x'-y?

(4 ¥1+VX'4 X 7"..\’)



Factoring Perfect Square Trinomials

Factor, write prime if prime.

1. x2+8x+16 11. 2502+ 60a + 36
2. x2-16x +64 12. 16 +40x + 25x2
3. y2+ 12y +36 ‘ 13. 16x2+24x +9
4, a?-10a+25 | 14, 49x2-14x+ 1
5. 16y*+8y +1 ; 15. 9y?-30y +25
6. M2-6x+1 | 16, n?+2n+4

7. 2555+ 100# 1 o 7. b2+2b+]

8. n?-14n +49 18. 36x2 + 84x + 49

Q. 81x2-90x+25 19. 81 -18x+x2

10. 4y?-20y +25 20. 4-12y +9y?



Factor, wiite prime if prime.

1. xX2+8x+16
(x+4)?
2. x2-16x+64
(x-38)?
V2 + 12y +36
(y+b)*
4, o?-10a+25
(a-5)?

5. 16y2+8y+1
(Hy+)*

6 Px2-6x+1
(3x-1)"

7. 25x2 4 10x + 1

w

(Sx+)t

8. n3-14n+491-
(n=7

9. Bl)(’--‘?())(+25’~
(9x-5)

10. 4y2-20y +25

(2y-8)"

4.

16.

17.

18.

19.

Answers

. 25a? +60a + 36

(Sa+le)*™

16 + 40x + 25x2
(H+S)"
16x2 +24x + 9
(Y +3)*
492 - 14x + 1
(-t
Oy? - 30y + 25
(3y-5)°
NnP+2n+4
Pprime
B2+2b+1
(bt
36x2 + 84x + 49

(Lx+1)"

81-18x+x?
(x-2)*

a-12y49y
(By=2D



X2 2X XY + 2y

. 3a2-2b-6a+ab

y P21
Hint:t=1=1¢-1)

10 + 2t — 55 — st

2p._14 %
. 3bc 3b+_o 7

. AU+ v+ 2uv+2u

. ad+3a-d?2-3d

8 nN?+2n+3mn+6ém

Q. 2ax? + bx? - 2ay? - by?

10, y2-y*+ 28 -y’

1. y*-y2-4y +4

-12. Xa +x?b - 16a - 16b

13, ¥+ x2=-x-1

14 a*-a?-8a+8



Answers

X2+ 22X+ XY + 2y 8. n?+2n + 3mn + 6m
(MUK ) (ne3m)Yn+3D
. 3a?-2b-6a+ab Q. 2ax? + bx2 - 2ay? - by?
(a B Y T ‘u) - (x~%1x+q3613c~*\93
.P-12+:;:t N 10, y2-y*+ 28 -y%Z
i=1= b 2-u ) 2 tw
(e 4% 1) B LR
. 10+ 2t-5s—st 11, y3—y2-4dy +4
£ 3-s )t "'5) (Lﬁr%)(%"ax '{3”‘)
; —g-bc-lséb+'c—7 -12. X’a+xb - 16a- 16b
Le-7X 2+ 1) CrEa X%~ Y orb)
. AU+ V+2uv+2u 13 ¥+ x2-x-1
LQL\HX&L«%\/B C‘,;H)"D(x—\s
. ad+3a-d?-3d 14, o®-c?-8a+8

(6~d Xd +3) Camdda™=8)



2. 22+8x+6

3. 3n?2+9n-30

4. 6x2-26x-20

5. 2x2+ 12x-80

6. 512+ 15t+ 10

7. 8n2-18

8. 14x2+ 7x-2]

Factoring: Putting It All Together

s

10.

Tl

12.

13.

14,

18.

16.

42 +16x + 16

18x + 12x% + 2x®

2X — 2xy?

3 - 27t

24a?-30a + 9

10x2+ 15x - 10

3x2-42x + 147

ax* - 42




Answers

Factoring: Putting It All Together

Factor completely, write prime if prime.

L

22-8
PISTEY & o))

22+8x+6
QO+ X+ V)
3n2 +9n-30
3Cn+sXNn—])
6x2 - 26x - 20
3(3xfaxx =543
22 + 12x - 80 '
AL X+ %-4%)
52416t +10 .
5(€+1 X E£+3)
8n?2-18
2 (an+3X3n-3)
14x2 + 7x - 21
7(3)&1—3‘}\';&—\)

10.

12.

13.

14.

16.

16.

42+ 16x + 16
Y
4 x+3)

18x+ 12x2 + 23
ax (x+ 3)3‘

T 2x-2xy?

S NGLES & -4)
3t - 27t :
€ & =3 E=3)
2462 -30a + 9

3(3a -1 XHa=3)
10x + 15x - 10,

5 a><~’,}(x1—a)
332 - 42x + 147

3(x-7)3

4x4 - 4x2

(F%> X X+ X x—))



1
2«
3.
4,

Solving Equations Using Factoring

Rewrite equation in standard form (one member equals 0).
Factor completely.

Set each factor equal to 0; then solve.

Check resulfs in original equation.

x2-5x-6=0 "9, 23p=5p2+24
V-4v=0 10. x¥*-3x-10=0
n?-16n=0 11. y?=49

X2+ 9= 10x | o |2 12. y2=-7y-10
6x2=16x‘-8 13. x2=8x

§2= 565 -§° 14, 3x2-2=x2+6
3y?+2y-1=0 15, 4y?2=-4y-1

uwd = 14u? + 32u 16. 5x2-2x-3=0



